
SAP ABAP table KOMLFP_LI2 {Prepare list data at item level}

KOMLFP_LI2

MANDT [CLNT (3)]

WBELN [CHAR (10)]

MATNR [CHAR (18)]

MATKL [CHAR (9)]

WERKS [CHAR (4)]

MWSKZ [CHAR (2)]

MWSK2 [CHAR (2)]

WFKME [UNIT (3)]

FPRME [UNIT (3)]

MEINS [UNIT (3)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

AKTNR [CHAR (10)]

LFGRU [CHAR (3)]

INFNR [CHAR (10)]

TXJCD [CHAR (15)]

LTSNR [CHAR (6)]

PUNEI [UNIT (3)]

KOLIF [CHAR (10)]

BWTAR [CHAR (10)]

BWTTY [CHAR (1)]

GSBER [CHAR (4)]

KOKRS [CHAR (4)]

CHARG [CHAR (10)]

EINA

MANDT [CLNT (3)]

INFNR [CHAR (10)]

 KOMLFP_LI2-INFNR = EINA-INFNR 
0..N

1

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 KOMLFP_LI2-KOLIF = LFA1-LIFNR 
0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 KOMLFP_LI2-MATNR = MARA-MATNR 
0..N

1

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

 KOMLFP_LI2-CHARG = MCH1-CHARG 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 KOMLFP_LI2-MANDT = T000-MANDT 

0..N

1
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 KOMLFP_LI2-WERKS = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 KOMLFP_LI2-FPRME = T006-MSEHI 

0..N
1  KOMLFP_LI2-GEWEI = T006-MSEHI 

0..N
1

 KOMLFP_LI2-MEINS = T006-MSEHI 
0..N

1
 KOMLFP_LI2-PUNEI = T006-MSEHI 0..N

1
 KOMLFP_LI2-VOLEH = T006-MSEHI 

0..N

1
 KOMLFP_LI2-WFKME = T006-MSEHI 

0..N

1

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 KOMLFP_LI2-MWSK2 = T007A-MWSKZ 0..N

1
 KOMLFP_LI2-MWSKZ = T007A-MWSKZ 

0..N

1

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 KOMLFP_LI2-MATKL = T023-MATKL 0..N1

T149C

MANDT [CLNT (3)]

BWTTY [CHAR (1)]

 KOMLFP_LI2-BWTTY = T149C-BWTTY 

0..N

1

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 KOMLFP_LI2-BWTAR = T149D-BWTAR 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 KOMLFP_LI2-GSBER = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 KOMLFP_LI2-KOKRS = TKA01-KOKRS 

0..N

{0,1}

TMLFG

MANDT [CLNT (3)]

LFGRU [CHAR (3)]

 KOMLFP_LI2-LFGRU = TMLFG-LFGRU 

0..N

1

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 KOMLFP_LI2-TXJCD = TTXJ-TXJCD 

0..N

0..N

WAKH

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

 KOMLFP_LI2-AKTNR = WAKH-AKTNR 

0..N

1

WBRK

MANDT [CLNT (3)]

WBELN [CHAR (10)]

 KOMLFP_LI2-WBELN = WBRK-WBELN 

0..N

1

WYT1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

 KOMLFP_LI2-LTSNR = WYT1-LTSNR 

1..N

1


